= A
N = 0] &F AF S & AN A
20188 = 20l A LEHSIH THS
25 M
Za: Y2
&2l X2 22l (2 &HH)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
T2 0t 42,162,233 41,600, 167 562,066
= 132,668
Xl 150,000
= 134,198
= 41,745,367
A XS 1,452,800 860,573 592,227
= 59,168
Xl 150,000
= 1,243,632
Xl etAl 22l 155,550 54,342 101,208
NEA 20 & XA 95,550 54,342 41,208
201 et 37,800 37,480 320
01 AP 2t 2] H| 18,580 17,520 1,060
O NEYMHDI2XAM HE
70,000 *6S *x128F A 5,040
OXYAMH 2= 49 H&
50,000& *8JH A x83] 3,200
OX &Ml OFLH 2 XF 23t 5,720& x5008 2,860
OX &Ml 2ted zH T} el 100,000 x6 & 600
OZgly X&eH(EHRY ) 3,000
OXgMHASS EHAH2H 70,000 *8H *33] 1,680
O&ct=Z MHAEO stOrsS e At 1,000
OXNYM ==2(XN=SOIM, LA HZ , AE2IE) 1,200
02 Z2=2=24%4| 19,220 19,960 ANT40
OXEAH DRNALS QERS 15,000
OXEA JIMAHE =X AIAE X224
2,110,000 *23| 4,220
202 044l 11,900 11,900 0
01 2L I 11,900 11,900 0
OX A A= 11,400
OF=Z XA HAEG AN 500
203 Q2= Y| 2,500 2,500 0
03 AIZH =X 2= XY 2,500 2,500 0
OMBYR A =X 2,500
301 LprB A 1,000 0 1,000
11 JIEtE A= 1,000 0 1,000
OHAENA & B2 X2 100,000 x 10X 1,000
303 T4 3 2,200 1,500 700
01 LAZ 2,200 1,500 700
ONAZEI A 245 - O A& 2,200
306 512 1,084 962 122
01 =492 1,084 962 122




2M: R

M WEXEH

&2 YA 2el (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O2017& XA H7& £H3 1,084
308 XXM SOIA 39,066 0 39,066
10 B2 SUHUE3AHEAE A I 39,066 0 39,066
OXZA F2EAMAE SXE=Hl 39,066
NLA DXAH &8 D528l 60,000 0 60,000
405 THobH S| 60,000 0 60,000
01 AL EFH S 60,000 0 60,000
OX&A DN &288 DT ey 2¢
60,000,000 =1 CH 60,000
g Fe0tA 22| 88,058 62,177 25,881
= 59,168
s 28,890
HE =0t 2tel 28,890 62,177 A 33,287
201 Let2d] 27,890 25,340 2,550
01 At 22l 26,090 23,540 2,550
OMNEFEINAZAS &H & MEIMH HH
9,000& *4500H 4,050
OMNEFEDIA MEFE TEH 423 500
ORSMINABAARE 3l9 BA +g
70,0003 x 118 +23] 1,540
OMNE =B HAEx=2 20,000
02 22224l 1,800 1,800 0
O2018F HEFEHIT AL =4 1,800
202 oidl 1,000 1,000 0
01 = LH YI 1,000 1,000 0
OME=EItA EL T A 1,000
HE FEIH B AIALY 59,168 0 59,168
= 59,168
101 @14 dl 14,000 0 14,000
= 14,000
04 JIZtHZ22XEES 14,000 0 14,000
OMNE eI EL XA Q12| 14,000
= 14,000
201 et 42,968 0 42,968
= 42,968
01 At 22l 42,968 0 42,968
OMEFEINAZA HE=+=2 N2 23,644
= 23,644
OMNEFEHINHAZASEHLMTEZA 17,324
= 17,324
OEZ0AHl Xs 2,000
= 2,000




2M: MR
M HEXA
el ez el CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
202 o4 4 2,200 0 2,200
= 2,200
01 S L YI 2,200 0 2,200
ONg eIt SHEXA 2,200
= 2,200
N2l =g 2tel 28,190 26,800 1,390
N2l == 2te| 28,190 26,800 1,390
201 fEt2E | 4,320 3,400 920
01 At 2t 2l Hl 4,320 3,400 920
OMe%e DXA |2 70,0002 208t A 1,400
OZREH RNBALI(EY S) 1,000
ONSASH 25 22 B9 N
50,0002 *109H 2 %12 500
ONgY 2= MRES 7¥ 500
OMeI=& AR = =22 500
OJIRYARER 4G 70,0002 x6H 420
202 o4 Hl 4,900 4,900 0
01 SLHOHI 4,900 4,900 0
O=uodtl 4,900
—HA+g BRFH 4,900
308 At XM SO0l & 18,970 0 18,970
10 SJ1 2 S0CHetE & X 2 & AL I 18,970 0 18,970
OEEXNZHMA+LEFEANLLE S22/ 18,970
HE Mg 2el 49,442 44,632 4,810
HMEANY &= 49,442 44,632 4,810
201 ety 32,042 27,732 4,310
01 AtR 2t 2l | 16,460 14,310 2,150
O==F & MELAM HMH 2,800
—Sg& 1NN 70,0003 308} A& 2,100
— &8 UXA 70,000 =108 A 700
ONMEAN €882 =2 MH
50,000 *7H 2 x43] 1,400
OMgHdeE 2 i 7 120,000 »4& 480
OMEN=zE 28 ==8(X3, IR &) 2,000
OUEEE AMAE 0223 5,280
ORIz LFANAY 022 3,300
OXZglH SAZH(EUFY S)
300,000& »2CH »23] 1,200
02 524t 15,582 13,422 2,160
O== % HNE2XNMN &85 28RS 14,582
—gged 300& +3,6005 * 122 12,960




2M: R

M WEXEH

S MM 2el (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
- SJ2H 1,930& *70S x123] 1,622
OMEAM H=Xe KX 2eltl 1,000
202 O4dl 9,000 9,000 0
01 = LHA YI 9,000 9,000 0
OXEA & MA=+ MEH = 5,000
O22ANF= DAHEN == &2 4,000
303 L& 3 8,400 7,900 500
01 Z& 3 8,400 7,900 500
OXNgAMY F=4F0 OE S8 L& 8,400
S A2 78,900 72,062 6,838
A2 & XA 78,900 72,062 6,838
201 £B-2dH| 70,700 64,862 5,838
01 At 22/l 55,960 50,242 5,718
OLetEH 082 700,000& x12& 8,400
OZelg SAI gz 130,000& =122 1,560
odelgd Ed ¢ 250,000 *8H 2,000
OAS & AL M 2 150,000& x4 H 600
OXUE SIHMRNSE M ol
5,000& x200Z 1,000
OZ&A & 244N B2HF I 16,000
OZLIPRE MRES Y 1,000
OZ &AL E &A=& 100,000 «5% 20 10,000
OMBIIAHZLSAHANBES=SE 13,000
OHSMoRE &2 150,000 «8H 23] 2,400
02 8323l 14,740 14,620 120
OHY & HNAMA T2 FANES> 29
400,000& 123 4,800
ONLHNE2ELE SHALE R EH
135,000& =128 1,620
ONYHNEAS S Jt&AHES=ZALE SRS
29 60,000& 123 720
OHLFESHALE RAES Y
400,000& 123 4,800
OHNELdZ2A HBES B8= 2,000
OZelgdY MRIII| = 200,000& *43| 800
202 04l 7,200 7,200 0
01 = LHA YI 7,200 7,200 0
OZelgs =& 6,200
OZ¢2d g§sdf & 43 WsE4 1,000
307 21201 A 1,000 0 1,000
12 QIO & = H| 1,000 0 1,000




S WD
MM WY
oo Egs Uy EER-ED
- - _ RE!
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | OZ MM DEEA AH 200,000 +5H 1,000
TH Ak 22 1,052,660 600,560 452,100
X 150,000
= 902,660
SSHO Iarael 502,060 528,960 A 28,900
201 Lt 395, 160 339,560 55,600
01 AL 22l 21,160 14,560 8,600
OMAZE HRZE AIREE 2 1,000
O28= XM} +42 2,000
OZLMA 2B} L XR=Y 242 4,000
O2E A Aol 5|o &HMAE
70,0002 7S *43) 1,960
O2E A 22lZ208 2 6,600
Onscz EE 2 =8 2,000
OSEZ2I(RFID) R4 2l 3,600
02 Z229d| 374,000 325,000 49,000
OFMN Z2R2 L A&RH || 176,000
ozZexz f24 2 eyl 28,000
ozZgxy 882 30,000
OZ2ZALS Mo & FESHHAa Z A 140,000
202 04 Hl 6,900 7,400 A500
01 2L 04 b 6,900 7,400 A500
OMaRe Rz 6,900
401 Al H 2 20| 40,000 160,000 A 120,000
01 Al&H 40,000 160,000 A 120,000
OZZANEE RN 20,000
OXFFHEHU NELLEZA 20,000
405 XHAFE S 60,000 22,000 38,000
01 RHAHL SEF S| 60,000 22,000 38,000
O2EXZ HWHTY 60,000
AL 2el 400,600 12,200 388,400
202 01| 600 1,200 AB00
01 2L 01 600 1,200 AB00
OBMHREX 600
401 Al HI 2 =201 400,000 10,000 390,000
01 Al&H 400,000 10,000 390,000
Oolgts = AT A 400,000
AR ELAY 150,000 0 150,000
X 150,000
401 AlEHI 2 201 150,000 0 150,000




L

ot

M MEXA
SRl T Atz (cho &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 150,000
01 A& HI 150,000 0 150,000
O&dd Zg=id x4 150,000
Xl 150,000
HE2HZH (R 40,709,433 37,139,594 3,569,839
= 73,500
< 134,198
i 40,501,735
Jl=3l 36,276 35,316 960
JlE2&l 36,276 35,316 960
201 L2l 18,516 17,196 1,320
01 At 22l 17,316 15,396 1,920
OSAMEXN F+E 20,9003 x20&t A %12 5,016
O=SAI Xtz 660,000& = 12& 7,920
OMEES #2 100,000& =122 1,200
O&F=D 2z 65,000& 123 780
Od=2(3e.Xe) & X ==
600, 000& *43| 2,400
02 2322l 1,200 1,800 A 600
OMEA NI 100,000& ~12& 1,200
202 oddl 12,960 13,920 A 960
01 SLHOHI 12,960 13,920 A 960
ORA2Y =UAH 12,960
203 2R E=F | 4,800 4,200 600
04 EAN2IHR2F=EHI 4,800 4,200 600
ORN2IYSF=AHI 400,000 x12& 4,800
ole) 2 ot 40,673,157 37,104,278 3,568,879
= 73,500
< 134,198
e 40,465,459
ol A 40,219,169 36,969,278 3,249,891
101 @124 dl 33,060,950 30,294,161 2,766,789
01 2 25,149,884 24,085,474 1,064,410
os3(2%, Ax5)|2, 89) 16,330,400
—d2X 85,200,000 »1H x 14 85,200
—HESE(42) 86,000,000 x1H » 14 86,000
—42 5,000,000& x4H x12& 240,000
— 5= 3,700,000&*21H x12& 932,400
— 6= 3,000,000& 115" +x12& 4,140,000
— 7= 2,700,000& x147H x12& 4,762,800
— 8= 2,200,000 125 12 3,300,000




A 2D
M HH2IZH(HR)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 9= 1,500,000& «57H «12& 1,026,000
- X&2 5,000,000& x3H x12& 180,000
— X & At 2,500,000& 23K x12& 690,000
—MNR2Z62 3,000,000& x6H 123 216,000
—ANR2I72 2,700,000& x15H x12& 486,000
— ANR2Z8s 2,200,000 x5H 123 132,000
—ANR2d9= 1,500,000 x3H x12& 54,000
Osg a=2 470,000
omya+g
16,330,400,000& *1/12%2%0.45%1.03 1,261,524
OxlI22g(2E, AHF)I|E, 8Y) 972,134
— 6= 11,0743 67 Al 2Ex 1158 » 122 «25% 255,976
—7= 10,0033 *67 Al 2t 147 H « 123 «25% 295,559
— 8= 8,980& *67 Al 2t * 125 « 12 »25% 225,623
— 9= 8, 1173 *67 Al 2t x57 B « 122 »25% 92,997
— X & At 10,0733 67 Al 2+ 22 128 »25% 44,543
~ NP2 Y63
11,0743 67 Al 2t x6H « 128 »25% 13,356
- MNR2YTE
10,0033 67 Al 2+ x 15 « 128 »25% 30,160
— ANR2382 8,980 *67Al 2t+x5H x 123 «25% 9,025
— MR2H9Z 8, 117267 Al 2 =321+ 122 «25% 4,895
OZD2L4L(2E, N2\, 9) ause
854,018,000& *0.035 29,891
OXUI L (ELRAM) 127,768
— Ol A& Y 10,0033 *30Al 2t x4 H «42 +1.03 4,946
— Z4AHY 10,0033 *15A1 2t x4H *2& x1.03 1,237
—MEZA Y LA (SHELE)
0,000& »30Al 2F+20H *1.03 6,180
— sy 840
10,000 *20Al 2t x5 *x3& x1.03 3,090
—AHOIHE 29
9,500%16A1 2+ x 15 *x2& x1.03 4,697
—ozd &g
10,0033 *67 Al 2t x 12 122 «1.03 99,405
—2HE (2%, B22=)
11,0743 30 Al 2t+2H 128 «1.03 8,213
OPUIER-:[Ea=, 137,794
—Ds8w 459,500& *43] x63%H 115,794
— =8 100,000& *42] x55H 22,000
Ot=E=¢ 409,200
— ST 40,0003 «312H 128 149,760
— 224IE 20,0003 x630H x12& 151,200
— SLNIIe=3 60,0003 x92H x128 66,240
— RLIEItAt= 100,000& 35 » 12& 42,000
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SM: HPD
M HH2IZH(HR)
& o 2d| (&)
SN BA(SA) - MRAY - BES il HImEET
OZFZ+E itz 594,720
— 2540l & 130,000& x127H x12& 198,120
— 2040l & 254 0] ¢t 110,000& x 1198« 12& 157,080
— 1580/ & 20& 0] ¢+ 80,0003 +x72H 128 69,120
— 1048 0l4& 154 0] ¢t 60,0003 x85H «12& 61,200
—54E0l& 10& 0|8t 50,0003 «182H «12& 109,200
OoRgze=¢g 54,840
- 50,0003 x65H «128 39,000
— g5 40,0003 33 128 15,840
OREs=2d Jtita 17,400
- 2Y 50,0003 x128 128 7,200
-5 24 50,000 x7H » 128 4,200
-4 24 50,000& x10¥ «12& 6,000
O3 331,373
—4SU= 5,000,000 *4. 1%*6%H 122 x1.03 15,203
— 532 4,800,000% «4.1%*38H «12& *1.03 92,434
—6=20< 3,700,000& «4.1%*90H «12& +1.03 168,752
—72UHR(NR2EES)
3,100,000 *4. 1%*35% 122 x1.03 54,984
Ozl 68,304
— 4= 4,800,000 »2H «12& x1.03%9/100 10,680
—X&2 5,328,000 «1E «12& *1.03+9/100 5,927
— 5= 4,277,270 10H «12& »1.03x9/100 47,581
— 6= 3,700,000 12 «12& x1.03+9/100 4,116
OJlz8E=Y 74,880
— 55 50,0003 x7H «12& 4,200
—6=2~7= 30,0003 *32H «12& 11,520
—8=~9=2 20,0003 x45H 128 10,800
— A&z 60,000 x3H 123 2,160
— K& At 50,0003 23 128 13,800
— ek 3 32,400
Il A 30,0003 +x70H x128 25,200
JIA2E 20,0003 308 128 7,200
ogzge=¢ 207,804
—JIE(dz2g) 10,627,000 x1H x 123 127,524
—JIEN(BAX 2 L)  250,000% x20H « 122 60,000
— =2 At 70,0003 x2H 128 1,680
— 2SS At 50,000 x25H «12& 15,000
— 9 S I At 50,0003 x6H 12 3,600
OXsx2d & IR =¢ 5,760
— 15U &olat 40,0003 x12H +128 5,760
OfIgExss=ed+¥ 10,000& x5 «12& 600




A 2D
M HE 2L (MR )
chel: ol gyl CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Oflagesg 30,0003 x62H x12& 22,320
O&ug e 4,200
— 34904 50,000 x7H 128 4,200
Oosg2! =% 70,0003 =130 «12& 109,200
OFel=¢ 45,120
— S8 (82) 40,0003 x3H 128 1,440
— &5 50,0003 x8H 128 4,800
-2k & MY Held
270,000& *x12H x12& 38,880
OMalI=Rge=g 70,0003 x40 x128 33,600
Oz 900,000& 45 x12& 486,000
O5gz2=®=g 81,744
— 2SS At 71,8003 *9H «40 «1.03 26,624
— SFAFA AL 71,8003 x2H 402 «1.03 5,917
— LA HIA 71,8003 +2H «402 +1.03 5,917
— BHAZ R (IIA)
72,0003 «4H +116 2 +1.03 34,411
— =g A 71,8003 *3H *40 1.03 8,875
Oooft2824 124,714
— 222 (AEA)
3,000 3 «9H «8BAl 2t x3652 *1.03 81,206
—EAAZ R (H2A)
3,000 3 «2H «8Al 2t x100€ *1.03 4,944
— BAHIAZRA(LALA)
3,000 1 «8Al 2 x100 «1.03 2,472
— 22 (JIAH)
3,0003 x4 «8A| 2+ 3652 *1.03 36,092
OnMAFZE 480
—sgJ|l=4dt 40,0003 x 1Y 128 480
OF UG A 130,000& x514H x12& 801,840
OZEF Il 17,902,887 ,000& *2/12%60% 1,790,289
O I 4| 17,902,887,000% *13/360+0.86 555,985
02 JIEt A 2+ 2,688,315 2,301,634 386,681
oFazz 1,281,982
- == 2,700,0003 x25%F 123 810,000
-2 A4z 870,000,000& *0.026 22,620
—d22Y 870,000,000& *2/12+0.5*1.03 74,675
—d2aY I3 27,960
253 0| &f 130,000& 5 128 7,800
- 203014 254018 110,000&*10H «12& 13,200
- 108014 150l et 60,0003 x8H 128 5,760
- 5@ 04 1040l ¢t 50,000& x2H 123 1,200
- s 26,880
- i< At 40,0003 x25F 123 12,000
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2H: WS
Mz HMSAHH (W)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
2eJIs 20,000 x62H x12& 14,880
— AH&H BEXxE 27,570
SV E=3=13m] 459,500 *43| *15H 27,570
—ANZ2AZ 2 270,724
Jl=2 (154 0] 4f)
10,0033 *14H 67 Al 2t x12& 112,594
- J|=2 (154 0] 8t)
9,773&3 *15H x67 Al 2Hx12& 117,863
=l 9,330 *9H x32A| 2tx 12 32,245
Ne2Ray oas
229,173,000& *0.035 8,022
—0I2224Y 3,000 *102+3652 1.03 11,279
— o2 sy (ralna)
2,9773 *8A| 2t*3652 *1.03 8,954
— ARG 30,000& x2H x12& 720
— B & 50,000& *x1& x12& 600
OH*H 843,611
=1 3,500,000 x16H ~12& 672,000
-3 UAME 672,000,000& *0.026 17,472
—tEx4 21,600
o < Xt 40,0003 25 x12& 12,000
2IIE 20,0003 x40 = 12& 9,600
L ECELE
10,003& 162 x67 Al 2t*x128 *1.03 132,539
oI A 130,000& 25 x12& 39,000
OY & FIHY| 1,330,338,000& *2/12+60%*1.03 137,025
Ot At 62,015
o BT
1,330,338,000& *x13/360%0.86*1.03 42 554
— H A 747,433,000 x13/360%0.70%1.03 19,461
OAZEEEHI L DI H 324,682
—-J|I=223 2,700,000 x7H 1204 & 226,800
— HHZAYH| 130, 000& *7H 1200 & 10,920
— g EXH| 125,000& *7H «12J4 & 10,500
— org sl 50,000& *7H 120 & 4,200
— A2 A 1,000, 000& *7H 7,000
—AZ2t2f4
9,300& *67 Al 2tx7H = 1204 & 52,341
— 52422 78,4003 *4H x40 x1.03 12,921
03 RINHA22XNHE %= 5,222,751 3,907,053 1,315,698
O=tE0Ig& ol24d| 1,400,143
-Jl2= 1,463,000 28 x12& 491,568
—J| &Y 1,984, 740& x28Y x4 3| *50% 111,146
824 1,984, 7403 28 23| *50% 55,573
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2N
X ZH -
L= B

el

U Sl
HY2LHZH (HR2)
el 2l

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
— HE e 1,984,740 »28H x53] 50% 138,932
—JIE=E 27,360

b < Xt 40,000 x27H <123 12,960
2LIE 20,0003 x60H «12& 14,400
—S=gfse 90,000 x28H «12& 30,240
—AYEA+E 70,0003 28 128 23,520
— ZAU=A 160,000 28H «12& 53,760
— JHA 2 =4l 110,000& 28 » 128 36,960
— WSl 140,000& 28 » 12& 47,040
— YEEOH| 1,984, 740! +23| 282 +60% 66,688
- 2294% 261,459
NEEERA
7,860 x28H *30Al 2t 12 »150% 118,844
gaa24+y
62,8813 x28H x4 . 5L «12& «150% 142,615
—Hx==g 62,8813 28«13 22,889
—AESHIEX+Y 33,008
nsstu 459,500 16 x4 3] 29,408
i 100,000& »9H 43 3,600
Otz 1,946,352
—JlzZs 1,350,000 59 x 1200 & 955,800
—Jlz=g 1,350,000& *2/12%59H 13,275
— ZUg A 130,000 x59H = 1201 & 92,040
— X2 100, 000& 59 « 1200 B 70,800
— ZE SO 1,550,000 592 23] 60/ 100 109,740
— QX 46,0003 x59H 13 35,282
—NARRL(BrRlHY HARN ')

46,000% /8+1.5+6H »48A| 2t x12& 29,808

LS

46,0003 *59H x15AI 2t+12& 488,520
—AN2LAZ 2L (HIHA)

46,0008 /8+x2H «22 A 2t x 122 3,036
—AN2AAZ2 2L (M F)

46,000% /8%1.5%1H +30Al 2+ =123 3,105
—RE5¢2RE 46,000 x50H «53 121,900
—5L2RTEH(UAE . LES)

46,000 *1.5x4FH 30 8,280
—FY2RFE(EFRIEY)
46,000 *1.5%2H «41 5,658
—R2RY2R2T(F2D)
46,000 *1.5x2H «66 9,108
ouz 1,173,008
—Jlz2s 1,500,000& 42 1200 & 756,000
—Jlg=¢ 1,500,000 =42 201 & 126,000
— ZAU Al 130,000 »42H <1200 & 65,520
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2EAM: R
M HH2IZH(HR)
chel: ol 2y (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
-2y 100,000 *42H = 1204 2 50,400
— ZE S0t 1,670,000& 429 23| *60/100 84,168
— X2 (FUAE @Y oR)
48,4003 x17H 13 10,697
S EL R
48,4009 /8%1.5%15A 2tx42H «12& 68,607
— S5 (HEAEHNT AL SR FF
Ab) 48,4003 »4H 60 11,616
otz 367,248
—Jl=s 1,890,000& x2ZF 12 & 45,360
—Jlgag 1,890,000& 2 201 & 7,560
— M Z A 130, 000& »2F =120 & 3,120
— AR 100,000& »2H 1201 & 2,400
— @HE SOty 1,890,000 »8H 23] x60/ 100 18,144
—HX=sg 53,6003 x2H 13 1,394
—orI2erg(2s)
53,6003 *1.5%4%H x84 27,015
— o2 eag(dardel, gArd)
53,6003 *1.5x6H 108 52,100
— L2 (Jade], gAA)
53,6003 *1.5%x4%H 42 13,508
—FYTRLY(25)
53,6003 *1.5+x5%H 24 9,648
~ U2 4Y(+ITUTRE)
53,6003 *1.5+2H 66 10,613
—EYT2LY(SYTM)
60,0003 *1.5%x2H 14 2,520
—EYIRLY(SINNH)
78,4003 x3H 24 5,645
— ot (2ts, gadel  SAd)
53,6003 *0.5+9H x34 8,201
— ANZtZ R4 60,0008 /8%1.5x14H «12& 1,890
—SRSELILY(=Z2ZA)
60,0003 *1.5%2%H 52 9,360
—R3FELI2RLI=s, S)2U8
60,0003 x9H x52 28,080
— A2AQADREG (S HTA)
60,0002 /8%1.5%48A| 2+ *x3H «12& 19,440
—N22R420lE, S4)
60,0003 /8+1.5%9H x50 Al 2t 1201 & 60,750
- 2224201z, 524)
60,0003 *1.5+x9H x50 40,500
OZ2ASREE S 135,000
OHLEEREZ 170,000
O ARES 11,000
ORI HLZZ X R4&X =4 20,000
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s 400,000& x1H x12& 4,800
—43 A LE 350,000 »2H x12& 8,400
— 52 L& 100,000& x8H x12& 9,600
—s0agAE 50,000& *7H +x12& 4,200
O&HI| 2 14,400
—BAHASRAEY, sgll=sdHAE
400,000 »2H x12& 9,600
— BAAEUNE, sgIl=dH(UE)
100,000& *4H x12& 4,800
0s.9 16,800
-s5.80% 150,000& x7H x12& 12,600
2 8. HE 50,000& *7H x12& 4,200
OAMNGA (SIS AILA)
150,000& »1H x12& 1,800
02 &= E x| 940,620 878,040 62,580
o238, 83x5)J|&, 89 940,620
-5 500,000& x1H = 12& 6,000
- 22 450,000& x1H =12 5,400
— 43 400,000 x4H x12& 19,200
— 53 250,000& *21H «12& 63,000
— 63 155,000& 115 +12& 213,900
72 140,000& 1475 »12& 246,960
—8~92 105,000& 182 »12& 229,320
— ME2963 155,000 *6H 12& 11,160
—AIR2972 140,000& *15H = 12& 25,200
— ME298-92 105,000& 3P x12& 3,780
— Xl Ab 155,000& 23 x12& 42,780
—dHAFF 105,000 x28H = 12& 35,280
— H %A 140,000& 23 x12& 38,640
03 SELREHI 246,960 243,360 3,600
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— Ml arE S 150,000& *4H x12& 7,200
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O& X+ EY=
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02 =222 2E= 1,012,225 945,502 66,723
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307 21201 & 103,921 88,157 156,764
07 A3 XN=3 103,921 88,157 15,764
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OMotFx=S 25,000
OJIEt EX =" BRE=
2,476,514 ,000& %3.820%*20% 18,921
09 HMES 2,000 20,000 218,000
02 SRS HINTES 2,000 20,000 A 18,000
OZRENH 210UHHES s BRES 2,000
Atz Xels elAdl XI& 105,000 135,000 /30,000
= 73,500
= 31,500
101 1Al 105,000 104,720 280
= 73,500
= 31,500
01 2= 105,000 104,720 280
OAMsalEXIel"E B 2,187,500& «4H«1200 & 105,000
= 73,500
[ia 31,500
CR2AZA B> 348,988 0 348,988
=) 134,198
e 214,790
101 14l 348,988 0 348,988
=) 134,198
i 214,790
03 RIAHAZ2 2R E > 348,988 0 348,988
Ookz=E+3d 2= 348,988
—Jlz2s 198,038
=) 68,689
a 129,349
— WS 2Ll 44,0003 x7H 1204 2 3,696
— @Z S 19,600
-2 180,000& »7H 1201 & 15,120
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— QX 11,528
— ZUg A 80,0003 +7F «12J0 & 6,720
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